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hies = AT k44 25 P S A ik 5 i =LA HIZRES
1 Ayl 612428kkkk%k%%0810 16, 000. 00 =L pibe
2 PR A 610902skkskskkkk 1376 10, 000. 00 Bl
3 ol 5 612429%%k%kx%%x%7136 10, 000. 00 Bl
4 BRI 61240 1 k%ksk5k%%0739 14, 000. 00 B iEid
5 JEEA 61240 skskskokskokkk 3272 12, 000. 00 =I5 BiibNS
6 YK 61240 1 kkskskcikkk5695 12, 000. 00 B
7 HHAR 61242 Tkx%x%%%%3816 12, 000. 00 LG pibu
8 0 i 612426%%%kk%k%%1610 16, 000. 00 L pibu
9 251 61240 Lkstksrsiorsok 0384 14, 000. 00 =I5 BiibNS
10 AN 6124 29%kkskckkk%0048 12, 000. 00 B
11 1 612428%%%kx%%xx%1115 12, 000. 00 Bl
12 B 61240 1 skkkkkx %2778 12, 000. 00 HHiEat
13 B 61240 1 %kkk5k%%0350 12, 000. 00 =L pibe
14 g 61242 1xkskkckkk%0336 12, 000. 00 B
15 B! 61240 1 x%kx%%kx%0732 12, 000. 00 Bl
16 FEHE 61240 1 skskskstsskskk 4244 12, 000. 00 B st
17 F&ZE 612401 *%kx%%k%%8210 10, 000. 00 =L pibe
18 XS [ 6124 28%kkskkkk%1025 12, 000. 00 B
19 S R 61240 1 x%kx%%kx%4033 12, 000. 00 Bl
20 iK% 612423 %kkx5k%%041X 12, 000. 00 B st
21 TV 61240 1 sksksksksskkk2575 16, 000. 00 B
22 L E 61242 7Hkksktokkk 1817 16, 000. 00 G PbNY
23 NG 61032 1kkskskciokkk 5013 12, 000. 00 Bl
24 A 61240 1 skkkkkx %3733 16, 000. 00 R st
25 i 6124 29%kkk%kx%0053 12, 000. 00 =L pibe
26 T EH 61240 1 kkskskciokkk3739 10, 000. 00 B
27 X 612426%%%kx%%k%%401 1 16, 000. 00 Bl
28 F i 61240 1 %kkx%%k% %0859 14, 000. 00 R st
29 AR ) 61240 1 *%kxkk%%0132 12, 000. 00 B
30 A NI 61240 Lkskkekstokkk5175 14, 000. 00 G PbNY
31 BEFESE 41042 1%%kx%%kx%%2017 12, 000. 00 Bl
32 X 61240 1 %kkxskkx% 139X 12, 000. 00 R st
33 Rl 612422 %k*kk5%k%%1033 12, 000. 00 =L pibe
34 FH 61240 1kkskskciokkk1475 12, 000. 00 Bl
35 BiMR 612401 x%kx%%%%2691 10, 000. 00 Bl
36 WEE 612422 %%k k%kx %4445 16, 000. 00 R st
37 T4 6124 29%kkkkkx%028X 16, 000. 00 =L pibe
38 PR 6124 25%kkskkkk%469 1 10, 000. 00 Bl
39 FRH 612401 %%%kx%%%%5615 12, 000. 00 Bl
40 &S 612425%k*k%%%k%%07 30 12, 000. 00 HHiEat
41 FH &L BH 61240 1 kkskskskokkx4237 12, 000. 00 =L pibe
42 M 6124 29s%kkskckkk%7296 12, 000. 00 Bl
43 R 612401 %%%kx%%%%6765 14, 000. 00 Bl
44 Batis 61240 1 %%kx%%k%%3283 12, 000. 00 HHiEat
45 AR AE 0t 61240 1 skskskeksoskokk 5202 12, 000. 00 BBV
46 TR 6124 25%kkkkk%%0029 16, 000. 00 B
47 HH 2 612429%%%kx%%%%6751 12, 000. 00 Bl
48 XI| i 2 6124284k k%%k%%1319 10, 000. 00 HHiEat
49 H- 2% 1 61242 7x%skxkk%%021 3 14, 000. 00 =L pibe




50 X7 61240 1kkkskkskkx0134 16, 000. 00 = pibes
51 HR B 612423%%k%kx%%%%0051 16, 000. 00 Bl
52 [ERAIT] 61240 1 skkkkkx %7226 16, 000. 00 HHiEat
53 PMIES 61240 1 kkskskskskkx4349 16, 000. 00 =L pibe
54 ERE 6124 28%kkskkkk% 1510 12, 000. 00 B
55 5 61240 1 x%%kx%%%%4795 16, 000. 00 Bl
56 %% 612429%k*k%%%k%%0319 12, 000. 00 HHiEat
57 AN} 612422%kkkkkk%321 1 16, 000. 00 =I5 BiibNS
58 F1E 61240 1%kkskkkkk4583 14, 000. 00 = pibes
59 skAz gt 61240 [kkkkkkkk2793 16, 000. 00 LG pibu
60 e 612429%kkx4%k%%3198 12, 000. 00 HHiEat
61 B AR 6124 28%kkskkkk1511 10, 000. 00 B
62 BRHE 61242 7xkkskkkk%0513 12, 000. 00 B
63 Hotte 612424 %kkskkkkk 1013 12, 000. 00 Bl
64 B 61242 3kskkkckkk%4210 16, 000. 00 HHiEat
65 SN 6124304k 0919 10, 000. 00 =L pibe
66 k=t 612423%kk%k%k%%%0610 16, 000. 00 = pibes
67 X 7k 4 612430%%kkk%kx%0218 10, 000. 00 Bl
68 T 61230 1 %skkxkk%k%2554 14, 000. 00 HHiEat
69 2N 61240 1 *kkkkkkx055 1 12, 000. 00 =I5 BiibNS
70 IOV E 610324%kkskkkk%4215 16, 000. 00 B
71 7K 3 61240 1 k%kkkk%%2592 12, 000. 00 Bl
72 LI 61240 Ixksksrtoksk6112 12, 000. 00 B st
73 JEEAR 61240 1 sxskk5k%k%4030 16, 000. 00 B Hlid
74 X 61240 1 kkskskciokk:9222 16, 000. 00 B
75 T 61240 Ikkskskciokkk 1483 12, 000. 00 Bl
76 Te ML 61242 2kskkkkkk 7822 10, 000. 00 B st
77 Xk % 61242 1 x%skskkk%%0530 16, 000. 00 =L pibe
78 X% 61240 1kkskskiskkk3750 12, 000. 00 B
79 28 61240 Ikt 2564 10, 000. 00 Bl
80 AR HE 61242 Iksskkskrskk 033X 12, 000. 00 L pibu
81 TKAE T 61240 1 skskskosokokk 5375 12, 000. 00 B Hlid
82 YR H 420323 %%kkkkkk%2813 19, 000. 00 = pibes
83 X Hitg 612429%x%x%%%%8259 12, 000. 00 LG pibu
84 FPE 6124 28%kkkkkkk 141X 10, 000. 00 R st
85 A= 612426384k 0047 12, 000. 00 =L pibe
86 RIS 61240 1kkskkkkx5901 14, 000. 00 B
87 TIH% 61240 L#skkeskokx %9052 16, 000. 00 Bl
88 AR 612427 #kkxkkx%1416 10, 000. 00 R st
89 IR 61240 1 *%kx%%%%0853 14, 000. 00 =L pibe
90 JERAY=! 61242 7%kkskkk%k%1416 10, 000. 00 = pibes
91 ST 61242 2%kkkkkxk 321X 12, 000. 00 Bl
92 AR 61240 1 sskskksskekk 4577 12, 000. 00 HHiEat
93 Rt 4 612430%kkk%k%%0915 16, 000. 00 =L pibe
94 =1 61240 1xkkskkkkx055X 16, 000. 00 Bl
95 A FR 61242 2%kxkx%%%%3210 16, 000. 00 LG pibu
96 KR 61240 Itk k297X 12, 000. 00 HHiEat
97 B 612423%kkkkx%k%1053 16, 000. 00 G BiibNS
98 P 61240 1 kkskskciokkk5372 12, 000. 00 Bl
99 #EFH 612430%%kkkkx%1215 12, 000. 00 Bl
100 e g 612426%kkkkkkk3412 16, 000. 00 HHiEat
101 e 612426kkkkk4k00 1X 16, 000. 00 =L pibe
102 £ iR 61240 1 kkskskikk%0335 12, 000. 00 B
103 70 612422%%k%kx%%xx%0037 16, 000. 00 Bl




104 X EAR 61240 L #skkeksokk k6455 10, 000. 00 B
105 AR 61240 1 x%kx%%k%x%7618 10, 000. 00 Bl
106 7K N 612427 %kkk5%kx%402 1 10, 000. 00 HHiEat
107 ABA 61240 1 k*kx%%%%2670 12, 000. 00 =L pibe
108 K 612423%kkkkkx%3820 16, 000. 00 B
109 ERA 612401 x%kx5k%%327 1 12, 000. 00 Bl
110 iR 61240 Ikkskksokkx(]32 12, 000. 00 HHiEat
111 TRk 6124304k 0919 12, 000. 00 =L pibe
112 EHESE] 612422%%kkkkk%k%x 282X 16, 000. 00 = pibes
113 X 7K % 61240 Ikskskskskkk 2554 12, 000. 00 Bl
114 W E 61242 3skskskkskk5k%201 8 16, 000. 00 HHiEat
115 kA& HT 61240 1 kkskskstokk k2432 10, 000. 00 B
116 EZE)E! 21052 1 #skkskskokx 042X 12, 000. 00 B
117 Mg R 61240 1 stk 383X 19, 000. 00 B Ek
118 R 612421 %%%kx%%%x%0976 16, 000. 00 HHiEat
119 e 612426354k 0017 14, 000. 00 =L pibe
120 R 61240 1kkkkkkx053X 12, 000. 00 B
121 ERLES 612430%%%kx%%x%0010 12, 000. 00 Bl
122 FIH K 61240 Lk 9016 10, 000. 00 HHiEat
123 Uit i A 61243 0skskskkskskokk 1617 12, 000. 00 s
124 21t 61240 1%kkskkkk%x8914 12, 000. 00 = pibes
125 HAE 61240 L#skskesokrx4032 16, 000. 00 Bl
126 2 612425%kkskk%%k%x839X 12, 000. 00 B st
127 R 61242 Tkskskkskokkk 1412 16, 000. 00 G BiibNS
128 Ji = 522723%kkkk%%%x006 X 19, 000. 00 = pibes
129 B 61240 1 kkskskciokkk5276 12, 000. 00 Bl
130 KX E 612426%%kx%%%%2239 16, 000. 00 B st
131 S 612427 xkkkkx%0723 12, 000. 00 =L pibe
132 X B s 61240 1 kkskskciokk%4036 16, 000. 00 B
133 B 6124 28%kkskkkkk0313 12, 000. 00 Bl
134 LiViae 612401 *%kx%%%%6891 12, 000. 00 R st
135 Bl 6124 30s%skskskstoskkk29 1 2 12, 000. 00 A iBLibuN
136 RACHE 6124 23%kkkkkk%3220 10, 000. 00 B
137 ARG 61240 I xkskskiokkk3650 12, 000. 00 Bl
138 N 61240 Ixkskskkokxk0532 12, 000. 00 R st
139 SRt 612425 %sskk55k%%2390 12, 000. 00 B Hlid
140 B JINg 61242 1%kskkkkk%0535 10, 000. 00 B
141 [LSAR: ] 500235%%kx%%x%%9003 16, 000. 00 Bl
142 e 420324%%kx%%x%%0590) 10, 000. 00 R st
143 W 284 612430%kkk4k%%0915 10, 000. 00 =L pibe
144 Ji A1 612428%kskskkokkk 1111 12, 000. 00 Bl
145 7k H 61242 Tkxkx%%k%%3375 12, 000. 00 LG pibu
146 X i 612430%kkkkx0012 12, 000. 00 HHiEat
147 Wi % 61240 Ikt 841X 14, 000. 00 Bl
148 KEW 332522kkkkkk%x%0046 16, 000. 00 = pibes
149 Zn g 6124 24%kkskkkx%0017 12, 000. 00 Bl
150 B4 hp 61240 1 %kkk5kx %2897 10, 000. 00 HHiEat
151 T4 61240 Lkskkorstokkk 2778 12, 000. 00 =L pibe
152 FiEfE 612428kkkkk4k%0218 12, 000. 00 = pibes
153 K 61240 1 kxx%%%%2676 10, 000. 00 Bl
154 X1 AR 61240 1 %%kx%%k%%2973 10, 000. 00 HHiEat
155 Ji AT AR 612425%kk5k%kx%%0010 12, 000. 00 G BiibNS
156 E 61242 Tk [ 22X 12, 000. 00 R Eit
157 % HOR 612422%%%kx%%x%0538 16, 000. 00 Bl




158 94 61240 1 kkskskciskxk%3370 10, 000. 00 B
159 JH % 61240 1 x%kx%%%%2795 10, 000. 00 Bl
160 ik th: B 612427 %k*kx4%k% %2279 16, 000. 00 HHiEat
161 ¥ lieJié 61240 1 ssskskkskskx 458X 16, 000. 00 B
162 X 7K 2 612423%kkskkk%k%0413 16, 000. 00 = pibes
163 JH v 61240 1 x%kx%%k%%2699 16, 000. 00 Bl
164 KB 612422 %%k %%%k%%0525 12, 000. 00 HHiEat
165 TR 61242255k 445X 12, 000. 00 B
166 Y] 61240 1%kkskkskkx054 X 12, 000. 00 = pibes
167 THEZ 61242 7T#kkx4k%%0026 10, 000. 00 Bl
168 X £ i 61242 Tx%kskkkkx417 1 12, 000. 00 HHiEat
169 A5 612428kkkk%k%%0019 10, 000. 00 =L pibe
170 R 612422%kkskkk%kk5812 12, 000. 00 = pibes
171 i i 61240 1 x%kx%%k%%3644 12, 000. 00 Bl
172 KR} 612425%%kkx%%%%2235 12, 000. 00 HHiEat
173 T M 612426%kkk4%k%%7616 14, 000. 00 =L pibe
174 HAE 61240 1 kkskskciokkk4250 16, 000. 00 B
175 M 4922622%%kk%%k*%%3859 12, 000. 00 Bl
176 X 61240 1 %%%kx%%%x%0735 12, 000. 00 HHiEat
177 EdCES 61240 1xkskkokxk 1186 12, 000. 00 B
178 ¥ 61240 1kskskciokkk 1157 16, 000. 00 B
179 =t 61240 Ikt 2878 10, 000. 00 Bl
180 TEEW 42011 Tkkkskrkk3967 16, 000. 00 B st
181 JiE 6124 28%kkkkx%0415 16, 000. 00 B
182 REFH 612427 xkkkkkk%1517 10, 000. 00 B
183 K e 61040 2%k*k%%%k%%1847 12, 000. 00 Bl
184 BIRE 6124 25%kkkk%kx%0333 12, 000. 00 B st
185 /B 61240 Lk 1298 10, 000. 00 =L pibe
186 T 61240 Lkskkekstokkk5175 10, 000. 00 G PbNY
187 EIEE: 61240 [ksskkskkkk 752X 14, 000. 00 LG pibu
188 VL 612401 *%%kx%%%%3935 10, 000. 00 R st
189 BF 61240 Lkskskstokkk5177 10, 000. 00 =L pibe
190 % 6124 25%kkkkkk% 1536 12, 000. 00 B
191 XIEEM 612429%%%x%%%%5912 12, 000. 00 Bl
192 A g 612423%%k%kx%%%%2825 12, 000. 00 R st
193 ERE 6124234k 0037 12, 000. 00 =L pibe
194 FYL 610502:kkkskkkkx4427 16, 000. 00 = pibes
195 2 61240 1kt 0033 12, 000. 00 Bl
196 2B 612423%%kkx%%%%1226 12, 000. 00 R st
197 AL SR 513026kkkskkk4kk557X 12, 000. 00 =L pibe
198 EADS 610524 kkkkkkk 321X 16, 000. 00 = pibes
199 VE KR 61240 Iksksksriokkk 76 1X 10, 000. 00 Bl
200 = 612401 %%%kx%%%%0536 12, 000. 00 HHiEat
201 R 2 F 612425%kk5kkx%%6299 16, 000. 00 G BiibNS
202 A 612422%%kkkk%%%0551 10, 000. 00 = pibes
203 MK SE 612429k 0294 10, 000. 00 Bl
204 KR 61240 1 %%kx%%%%0149 14, 000. 00 HHiEat
205 B 61240 Ltk 0736 12, 000. 00 =L pibe
206 (EELKGE 6124 22%kkskkkk%5219 12, 000. 00 Bl
207 FFI 61242940208 19, 000. 00 Bl
208 2N 6124 23%kkkkkx%0419 12, 000. 00 HHiEat
209 XU 61240 Lokt 1 488 12, 000. 00 =L pibe
210 HHEE AR 612422%kkk4k%%0517 16, 000. 00 B
211 15 5k [ 612401 %%%kx%%%%5976 16, 000. 00 Bl




212 e 61240 1%kkskkekskk7313 12, 000. 00 = pibes
213 A U 61242 2s%skksk5kk% 281X 12, 000. 00 = PBNY
214 AP 650204 %%k %%k%% 0054 12, 000. 00 HHiEat
215 (g 61240 1 *%kx%%k%%2776 10, 000. 00 =L pibe
216 Y 61240 10560 12, 000. 00 B
217 Kz R 512922%%%kx%%xx%0017 19, 000. 00 Bl
218 EEGED 612423 %%k %%%k% %4866 12, 000. 00 HHiEat
219 FEE 61240 1 skskskskskkk0 13X 12, 000. 00 B
220 i 51122 7kkskkkk%5319 12, 000. 00 B
221 JEAE 61240 1kskskkokkk4494 16, 000. 00 Bl
222 ZEKF 612429%kk%k%k%%%3992 12, 000. 00 HHiEat
223 S A 61242 2skskskkskskokk 0537 12, 000. 00 Bl
224 KX 61240 1 %kkskkskkx5854 10, 000. 00 = pibes
225 s 6124244k 082X 10, 000. 00 Bl
226 PEE L 612429% %%k x%%%%5354 16, 000. 00 HHiEat
227 AL 61240 1 kkskskskskkk561 1 16, 000. 00 B
228 B 612425%kk%kkk3%kx0072 12, 000. 00 = pibes
229 =] 612430%kkkkkxkk 124 1 12, 000. 00 Bl
230 B 6124 25%kkskkkx%0024 12, 000. 00 HHiEat
231 Ji] 5 HE 61240 Lk 1678 12, 000. 00 =L pibe
232 ki 6124 25%kkskkkk%4645 14, 000. 00 B
233 NS 61240 Ik 2479 12, 000. 00 Bl
234 iz K 6124 30%%kk5k%%1315 12, 000. 00 B st
235 AR E 612424 %kskskkk4kk221 1 10, 000. 00 =L pibe
236 i AL 612425%kkkkk%%8552 14, 000. 00 = pibes
237 SR 61240 L#skkekskk 6033 16, 000. 00 = PBNY
238 [ R MR 6125265%kskksskskk 1022 12, 000. 00 B st
239 LTS 61242 Ttk 0719 16, 000. 00 =L pibe
240 TN 612429%kskskckkkk1325 12, 000. 00 B
241 R 612428%xkkkkkx% 1216 12, 000. 00 Bl
242 7K o 61240 1 skkx5%k%%0536 14, 000. 00 R st
243 (EPARE 612430%kkk4k%%0010 12, 000. 00 B
244 éﬁ%lﬁim 412326%%kk%kk%k%1858 12, 000. 00 = pibes
245 AN 142726%%5%kx%%0020 12, 000. 00 Bl
246 /J\EEE. 612430%kkx4%k%%0329 16, 000. 00 R st
247 St 61242 7xkk5k%%%%0026 12, 000. 00 =L pibe
248 A H 612727 xkkkkkk%5453 12, 000. 00 B
249 KeW 61240 Iksckskstokkk 1166 12, 000. 00 Bl
250 REH 612429%kkskkkkk6331 12, 000. 00 R st
251 &G F 61240 Lkt 0137 12, 000. 00 =L pibe
252 ERNG 61240 1%kkskkskskx0132 16, 000. 00 = pibes
253 By 61240 Ikskskskcskkk 355X 12, 000. 00 Bl
254 ML 6124305k kk4kk%1226 10, 000. 00 HHiEat
255 5 A B 612428 kkkskkkkk 121 1 12, 000. 00 G BiibNS
256 TEE 61240 1skkskkokkx0734 16, 000. 00 Bl
257 7K B 61240 1 sskskk55k%%2699 16, 000. 00 Bl
258 AT 61240 1 skkkkkx %3382 10, 000. 00 HHiEat
259 & THE 61230 Lkt 26 16 12, 000. 00 =L pibe
260 LEEES 612430%kk4%k%%0040 12, 000. 00 = pibes
261 gk B 612429%x%kx%%%%5916 12, 000. 00 Bl
262 XIPL 612401 %%%kx%%%%1165 12, 000. 00 HHiEat
263 ERCES 61240 1 xksktokxk2552 12, 000. 00 B
264 Wi JE £ 612429%kkskkkk%7133 12, 000. 00 B
265 pasy ] 61240 1 x%kx5%x%0033 14, 000. 00 Bl




266 5 6124 24%kkskckkkk3412 10, 000. 00 B
267 TEH 612427 x%%kx%%%%3224 10, 000. 00 Bl
268 K 612423 %k*kx%%k%%0015 16, 000. 00 HHiEat
269 X 61242 3kkkkkk%k%0029 16, 000. 00 2@
270 X5 612422%kkkkkk%1015 16, 000. 00 B
271 BAAR 612425%%kkx%%%%4691 10, 000. 00 Bl
272 HA Y 612425%%k*k%%%kx %8397 12, 000. 00 HHiEat
273 P 61240 1 x%kxkk%%0]1 34 10, 000. 00 B
274 R H: S 612429%kkskkk%k%8253 12, 000. 00 = pibes
275 {7 e 61240 Ikt 2178 12, 000. 00 Bl
276 ot H 61240 ] skskskkssksk k5856 16, 000. 00 HHiEat
2717 R 61240 1 sssksskskkk ] 38X 14, 000. 00 st
278 #H )i W1 61242 2kskkkk4k281 1 12, 000. 00 = pibes
279 Bh i 61242 2%%k%k4%kx% 7875 10, 000. 00 Bl
280 kv 61242 55%skskkskskskk 67 34 12, 000. 00 HHiEat
281 B E - 61240 1 %kkk5kx %2559 12, 000. 00 B
282 i 61240 1%kkskkk%x%9015 16, 000. 00 = pibes
283 JT e 376 612401 x%%kx%%x%6155 14, 000. 00 Bl
284 ] 61240 [#skkesokk 4043 16, 000. 00 HHiEat
285 MR 61242 2skskskkskskok k4819 16, 000. 00 Bl
286 FRIFEIA 612423%kkskkk%%0415 12, 000. 00 = pibes
287 W A 6124 24%kkskkkx%0017 12, 000. 00 Bl
288 Tl 61240 Ixkskskkokkk2595 16, 000. 00 B st
289 KICHE 612425 %kkskkkkk7 72X 12, 000. 00 B
290 £ 61242 7#kk5k%%3%%0020 16, 000. 00 = pibes
291 ] RE AR 612426%%kx%%k%%2111 19, 000. 00 Bl
292 o AR 612430%%kx%%k%%1220 16, 000. 00 B st
293 SR 612428 %skskskkskskx [ 51X 10, 000. 00 B
294 Ji R 61240 1%kkskkkskx4 130 12, 000. 00 = pibes
295 T RE 61240 1xkkskkkkk 355X 10, 000. 00 Bl
296 PN 612425%%kkx%%k%%6124 12, 000. 00 R st
297 AN 612422%%*kx%%%%0030 12, 000. 00 B
298 ik 612429%kkskkk%kx1922 16, 000. 00 = pibes
299 SV 61242 7Tkskskkkx% 3863 16, 000. 00 Bl
300 B % 61240 1 skskskksskskx 0538 12, 000. 00 R st
301 L] 612430%kkk5%kx%291 16, 000. 00 B
302 XM=E 61240 1kkskkokkx6284 19, 000. 00 B
303 fE 610923k 001 1 16, 000. 00 Bl
304 i /N 6123304k 0616 10, 000. 00 R st
305 EIME 6124 28%%skxkkkx%1017 12, 000. 00 BT
306 FEALEL 612426%kk4%k%%5810 10, 000. 00 = pibes
307 ENp5Y 612430%%%kx%%%%2918 12, 000. 00 Bl
308 RS 6124265%skkk5k5k%661 3 14, 000. 00 HHiEat
309 WA g 612427 %k*kk%%k%%1516 12, 000. 00 B
310 F IR 61240 Ikskkskskkskx2779 12, 000. 00 = pibes
311 MRoR 5 61240 1 scskskoksosrskx 2433 12, 000. 00 = PBNY
312 K 511323skskskskkskskk 191X 12, 000. 00 HHiEat
313 IR 612427 *kkkkk%k%27 1 X 12, 000. 00 G BiibNS
314 CEil 6101 15%kkskckkk%6760 16, 000. 00 Bl
315 K 1 612401 x%kx%k%%327 1 12, 000. 00 Bl
316 L BT 61240 1 x%%kx%%%%0025 14, 000. 00 HHiEat
317 2yl 6124294k 6082 12, 000. 00 =L pibe
318 0 61240 Lkskokstokkk 2872 16, 000. 00 = pibes
319 Tk 2R 612422%%%kx%%%%4024 12, 000. 00 Bl




320 Pk ok 61240 1sksksksokkk4631 16, 000. 00 B
321 HHA 5 61240 1 x%kx%k%%743X 16, 000. 00 Bl
322 = H 612426%kk%%%k% %6430 16, 000. 00 HHiEat
323 RS 612401 *%kx5%k%%3081 16, 000. 00 B
324 ST 61240 1skskskokkx8711 12, 000. 00 B
325 el 61240 1 x%kx%%kx%1397 12, 000. 00 Bl
326 5 2 A 612425 %%k %%%k% %2380 12, 000. 00 HHiEat
327 M2 61240 Lkt 1869 16, 000. 00 =L pibe
328 g 61240 Lkskskskokkx0536 12, 000. 00 = pibes
329 BRAE 612422%%%kx%%%%0021 12, 000. 00 Bl
330 JH S5 61240 [#skkskkk %5613 10, 000. 00 HHiEat
331 7"52?52 61240 Ikkssokkk 6212 12, 000. 00 st
332 A 61240 1%kkskkkk%6029 10, 000. 00 = pibes
333 ok 61240 L#skskxkx%0016 12, 000. 00 B Ek
334 M E 612425%%%kx%%x%x%8637 10, 000. 00 HHiEat
335 R A 612423%*kkkkx%%0810 12, 000. 00 =I5 BiibNS
336 J&i] 48 612426%k%k%k%%%0025 12, 000. 00 = pibes
337 Hk 61240 1 k%kkkk%%4575 16, 000. 00 Bl
338 E P 612423%%%kx%%%%0020 12, 000. 00 HHiEat
339 K 612425%kkkkx%k%8512 12, 000. 00 =I5 BiibNS
340 AE B 61242 7kkkkkk%291 1 12, 000. 00 B
341 AR 61240 Lk 174 10, 000. 00 = PBNY
342 FER 612401 %%kx5%k%%561 1 12, 000. 00 B st
343 B 61240 1 %kskskxk%4040 12, 000. 00 G BiibNS
344 XA 61240 1 skkskskokx 4574 10, 000. 00 B
345 R B 612425%%k%kk%k%x%2308 12, 000. 00 Bl
346 7K B B 61240 Ixksksrtokxk0743 16, 000. 00 B st
347 CIE 61242 2skskskkkk5k %0038 14, 000. 00 st
348 Ji AR Fe 612430%kkskkkkx2112 10, 000. 00 = pibes
349 % 6124265%kk%355k5k%00 1 2 16, 000. 00 = PBNY
350 vzl 61240 Ikkskrsskrk04 1X 16, 000. 00 R st
351 R T 622627 xkkkokxk4213 12, 000. 00 B
352 BRIA 612424 %kkkkk%%3813 10, 000. 00 G PbNY
353 N 612422%kxk5k%k%0517 16, 000. 00 = PBNY
354 AR I 61240 Ikskskskkx0859 16, 000. 00 R st
355 L yivia 6124294k k%4268 10, 000. 00 =L pibe
356 M ke 61240 Lk k0868 14, 000. 00 G PbNY
357 AT I 612423 %%kx%%k%%201 1 12, 000. 00 Bl
358 ZHEM 61243 0s%kskksskskx 1215 10, 000. 00 R st
359 IEE: 61240 1 kkskskstosksk k4575 16, 000. 00 A iBLibuE
360 EEWS 61240 1%skkskkekskk4572 10, 000. 00 = pibes
361 e =Y 612429%kkk%%k%%4257 10, 000. 00 LG pibu
362 RS 612425%k%kk%k%%%677X 10, 000. 00 L pibu
363 AR 1E dh 61242 Tskskokstokkk 3477 12, 000. 00 B
364 MRz 6124 29%kkskkkk%0029 10, 000. 00 Bl
365 (AN 61240 Ik 6678 12, 000. 00 Bl
366 7K S 612401 %%%kx%%%%1979 10, 000. 00 HHiEat
367 B 61242 5skskskskoteokksk 4724 14, 000. 00 A iBLibuE
368 Fo 610104%kkkkskkx3414 12, 000. 00 = pibes
369 KA 61240 1 %%kx%%k%%247X 12, 000. 00 Bl
370 B 61240 L skskskskkx 2774 16, 000. 00 HHiEat
371 LA 61240 Lkstsksrsorkk039 1 12, 000. 00 =L pibe
372 E 5 61240 L #skskeksokkk5193 12, 000. 00 B
373 i 612430%%%kx%%%%1614 12, 000. 00 Bl




374 iR 61240 Lkskskstokkk 2880 10, 000. 00 = pibes
375 T 612427 x%%x%%%%07 1X 10, 000. 00 Bl
376 BN 612422 %%k kkkx% 1443 12, 000. 00 HHiEat
377 PILE 61240 1 kkskskotoskkk2798 12, 000. 00 A iBLibuN
378 PR EE 61240 1 kkskskciokk %2796 12, 000. 00 B
379 Rk AR 6127 22%%kkx%%kx%1632 12, 000. 00 Bl
380 FHit 230184 %%k k%%k%%3215 14, 000. 00 HHiEat
381 AR3ELE 61240 1 k%sksk5k%%0870 12, 000. 00 =L pibe
382 REV% 61242 7xkkkkk%%2910 10, 000. 00 B
383 DSEE 3 612425 %kkkk%k%%7435 10, 000. 00 =G PBNY
384 aLa 6124 26%kkkkkkk7621 12, 000. 00 HHiEat
385 B 612425 %kkskkkkx0324 16, 000. 00 =L pibe
386 25 61242 7xkk%kk%%%x092X 16, 000. 00 = pibes
387 B LG 612428 %kkx%%%%001X 12, 000. 00 B Ek
388 FARLE 612422 kkskkx%3217 14, 000. 00 HHiEat
389 1l 1l 61240 1 skkkkkx %7715 12, 000. 00 =L pibe
390 RAE 61240 1kkkskkskkx 457X 12, 000. 00 = pibes
391 XI| 612422%%%kx%%%%0595 12, 000. 00 Bl
392 A5 612401 %%kx%k%%457 1 16, 000. 00 HHiEat
393 SR S 612421 skkkskkx%037 1 16, 000. 00 st
394 R 612429%kkskkk%k%0458 10, 000. 00 = pibes
395 L 61240 1 kxx5%k%%3276 12, 000. 00 Bl
396 TR 61240 1 k%kskkk%%3949 14, 000. 00 B st
397 Bhv 2 612426%kkkkkx5414 12, 000. 00 B Hlid
398 AR 61240 1%kkskkkkx2575 16, 000. 00 = pibes
399 X8R 61240 1 skkx4%kx%2578 12, 000. 00 Bl
400 NI 61240 1 x%%kx%%%%0136 16, 000. 00 B st
401 EEiES 6124 25%kkkkx%0044 12, 000. 00 =L pibe
402 2K 61240 1%kkskkkkx4033 12, 000. 00 = pibes
403 B 61240 L#skkesokrk 1977 10, 000. 00 Bl
404 X 513022%kkk4%k%%4155 12, 000. 00 R st
405 2RI 61242 2%sskk355k%%0550 16, 000. 00 =L pibe
406 sK1L¥% 6124 25%kkkkkx%8536 16, 000. 00 B
407 FHER 61240 1xkskskkokkk0557 12, 000. 00 Bl
408 B0 e 6124 29%kkkkkekk 7222 12, 000. 00 R st
409 ¥/ Fi 61240 Ixkskrstoknk4148 10, 000. 00 =L pibe
410 Xyl 612429%kkkkkk %7318 12, 000. 00 B
411 AL 612429%%%kx%%%%5665 10, 000. 00 Bl
412 £ 61240 1 #skkskskkx3934 16, 000. 00 R st
413 s 61240 1 *%kkkkx%4132 16, 000. 00 B
414 RRL 61240 1kkkskkskkx243X 12, 000. 00 = pibes
415 ZEUE 6124 25%kkskkkx%2197 16, 000. 00 Bl
416 RINR 61240 1 skt [ 67X 12, 000. 00 HHiEat
417 e 61240 1 k%skx5k%%0868 12, 000. 00 =L pibe
418 FEHE 61240 Lkssksrsokkk 087X 12, 000. 00 = pibes
419 e, 6124 29%kkskkkx%0298 12, 000. 00 Bl
420 B4 61240 1 %%%kx%%%%2898 16, 000. 00 HHiEat
421 £ 61240 skskokstokk k4032 12, 000. 00 =L pibe
422 HEE 612425%kkkk%%%073X 12, 000. 00 = pibes
423 Ji B 61240 1%kkkkkk%x393 1 12, 000. 00 Bl
424 5% 612328%kskkkkk%03 19 19, 000. 00 = iplibu
425 + 2] 612424%kkkk%%%0412 12, 000. 00 G BiibNS
426 FHE 421023%k*kkkk4k8325 16, 000. 00 B
427 A 612427 x%%x%%%%024X 12, 000. 00 Bl




428 s 42032 1%kkkskkkx2811 14, 000. 00 B
429 Ml g 612429% k% %%%%5636 12, 000. 00 Bl
430 il 612428 %k*kx%%%%0616 12, 000. 00 HHiEat
431 A 61240 1 skkk5%k% %3636 16, 000. 00 Bl
432 BKE 6124 26%kkkk%k%%003X 12, 000. 00 B
433 XI| 2 M 61240 1x%%kx%%xx%0018 12, 000. 00 Bl
434 BN 61240 1 skkkkx%053 1 19, 000. 00 HHiEat
435 AT, 6124 29%kkkkxk7 148 12, 000. 00 =L pibe
436 Tt5H 612423%kkskkk%kx0012 12, 000. 00 = pibes
437 % 612422%%%kx%%%%6655 12, 000. 00 Bl
438 TEN 612401 %%kx%x%%%0854 14, 000. 00 HHiEat
439 ZHM 612422% k%% %% %%6616 12, 000. 00 =L pibe
440 J B2 61240 Lkskkekstokkx0165 10, 000. 00 R Eat
441 T 61240 Iksksksrciokkk 1261 12, 000. 00 Bl
442 JEES 6124 22%kkk%kx%3420 16, 000. 00 HHiEat
443 XA % 61240 1 x%kxkk%%8044 10, 000. 00 B
444 7t 420323 %kkkkkkk 1528 14, 000. 00 B
445 oA AL 612430%%%kx%%kx%0717 12, 000. 00 Bl
446 JE AR 61240 1 kkskskskkx2577 12, 000. 00 HHiEat
447 Wi it e 6124265 %kkkk%% 1234 12, 000. 00 B
448 YO 61240 1%kkskkk%x%8510 10, 000. 00 = pibes
449 B3 612423%%k%kx%%%%2629 16, 000. 00 Bl
450 L 61240 Lkskcksksokkk0143 12, 000. 00 B st
451 Ji IR 612425%kkkkx%k%8193 12, 000. 00 G BiibNS
452 HAE 61240 1kksksskkx002X 19, 000. 00 B
453 ot H 612425%kkx4%k%%6559 12, 000. 00 = PBNY
454 AL 429006 %kxk%5k%%%6995 19, 000. 00 B st
455 Bk 61242 2% sskkk5k%%7 499 12, 000. 00 =L pibe
456 7 61240 1kkkskkskkx278 1 12, 000. 00 = pibes
457 HHE 6124 22%kkskkkx%483 1 12, 000. 00 Bl
458 Ef0ES 6124 25%kkkkkx%857 1 16, 000. 00 R st
459 7K S 3 6124295k 1637 12, 000. 00 B Hlid
460 RPtE 61240 1%kkskkkkx9217 14, 000. 00 = pibes
461 b H 61240 I kkskskciokkk6418 16, 000. 00 Bl
462 KT 61240 Ixksksrtokxk2437 16, 000. 00 R st
463 A4 61242 7xkkskkkk4 114 12, 000. 00 =L pibe
464 ¥ o e 612430%kkkkkk%2119 19, 000. 00 G PbNY
465 2K BH BH 61240 1 x%kx5kx%1473 16, 000. 00 Bl
466 vz 612425%kkk4%k%%2188 16, 000. 00 R st
467 ] 612429kkkkkk k6082 10, 000. 00 =L pibe
468 NREZE 61240 1 kkskskcikk%2970 16, 000. 00 Bl
469 AR 612428 %kskskk3k5k% [ 22X 12, 000. 00 Bl
470 XIS F 612427 %kkx%%k%% 182X 16, 000. 00 HHiEat
471 AN 61240 kskskkskok k%3746 16, 000. 00 =L pibe
472 T MEAR 612429%kkkkskkx 1614 16, 000. 00 = pibes
473 KB 61240 1 kxx%%%%0536 16, 000. 00 Bl
474 ThE 612429%kkx4%%%0016 12, 000. 00 HHiEat
475 WAL 61240 1 kst 1 386 10, 000. 00 Bl
476 B 612427 *kkkkk%%x322 1 12, 000. 00 = pibes
477 TR 61240 Itk 2186 16, 000. 00 Bl
478 BRACTH 612429k 0464 16, 000. 00 HHiEat
479 EIA 61240 Lokt 2788 10, 000. 00 =L pibe
480 EILF 43032 1%kkkskkx%850X 10, 000. 00 B
481 LEEES 61240 1 %%kx%%%%9024 12, 000. 00 Bl




482 A UG 61240 1kt 903 1 12, 000. 00 B
483 M= 61240 1 x%kx%%kx%0342 12, 000. 00 Bl
484 BEE N 612429%k*k%5%k%%7 130 12, 000. 00 HHiEat
485 K EE 61242 3%%skskkk%%4233 12, 000. 00 B
486 M5 612429%kkkkkk%3337 10, 000. 00 B
487 ER 612430%k*k%%%k%%2219 12, 000. 00 = PBNY
488 KI5 6124265k %%%%%0020 19, 000. 00 HHiEat
489 7T 61240 1 skskskstosokskk 2554 16, 000. 00 st
490 TKAERR 612422%kkkkk%%x2814 10, 000. 00 = pibes
491 FH 61240 Ikskckskskxk8910 16, 000. 00 Bl
492 ZE1l 6124 29%kkkkkxk2352 12, 000. 00 HHiEat
493 s BH B 6124263kkk4%k%%0035 12, 000. 00 =L pibe
494 FEHE 61240 1 kkskskiokkk4330 10, 000. 00 B
495 SW A 61240 1 scskskksskskx 0018 16, 000. 00 B Ek
496 A JH 61240 Ixksksktokxk4238 12, 000. 00 HHiEat
497 X3 T Bk 612430%kkkkk%%2628 10, 000. 00 =I5 BiibNS
498 TEH 61240 1kkkskkskkx308 1 19, 000. 00 = pibes
499 s 420984 kkkkkk4k%6635 16, 000. 00 Bl
500 Ji 612422%kkk%x%%%0518 12, 000. 00 HHiEat
501 1AL 61240 1 k%skskkk%%2978 16, 000. 00 B
502 R S 612426%kkk%k%%2210 10, 000. 00 = pibes
503 W 61240 1 x%kx%%kx%0138 12, 000. 00 Bl
504 ZRR 6124 22%kk4%kx%0035 12, 000. 00 B st
505 I 55 510623 %kkk%k%%2739 12, 000. 00 G BiibNS
506 B HE 612425%kkskkk%k%4255 12, 000. 00 = pibes
507 Xl 61240 Lkskskskskskskk 4777 12, 000. 00 B E
508 PR 61240 1xkskkkxk4815 12, 000. 00 B
509 ML 61240 1%kkskkk%k%0336 12, 000. 00 = pibes
510 ok = 61240 1 seskskskskskskx 279 1 16, 000. 00 = PBNY
511 PSR 61242 55%skskkskskskk 67 54 12, 000. 00 R st
512 XK % 612429kkkkk%%3197 10, 000. 00 =L pibe
513 ZHHR 612422%kkskkk%k%3418 10, 000. 00 = pibes
514 18 612421 %%kx%%kx%3932 12, 000. 00 Bl
515 Wi 3L 61242 Tsksskstsoskskk [ 41 1 14, 000. 00 R st
516 PR A s 61240 kskskkkk k%3558 10, 000. 00 =L pibe
517 =4 61240 Ikkkskokkx 3731 12, 000. 00 G PbNY
518 e 61230 Ikkskskciokkk0738 16, 000. 00 Bl
519 H- i 61240 Ltk 0140 12, 000. 00 R st
520 ML LR 612430%kkskskokkk2412 10, 000. 00 B
521 HH IO 61240 1kkkskkskkx621X 12, 000. 00 = pibes
522 RS 61240 1 x%%kx%%x%8099 16, 000. 00 Bl
523 ZH 612425%k*kx%%k%%0336 16, 000. 00 HHiEat
&t 6, 772, 000. 00




